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(o) ®M3%Ee| 7|=SATF ALt Al A% X & (describe.xIsx) 2
- http://kanggc.iptime.org/book/data/describe.xIsx £ L} = C}
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Mo 24
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A B C D E
AHAEIASE  FHEEESE GDPHUEE  GDPLIZEH0|HASE

SHIAEIHSE 1215822222

FEACtHEZE| 1122755556 1.551715556

GDPAEE 0.279866667 0781333332 2.869066667

GDPLCIZB0|HAYEE 0.5684882389 0.615755556 0.1352 1.261155556

A B C D E
AHAEIHSE FHHEOESEl GDPEEE  GDPLIZL0HASE
LHAETHEE 1
MZXHE =
' GDP o%E FegedEZE 0.81741785 1
|-7.-|| _J|\_7|. GDPHEE 0.149846229 0.370305341 1
0.0712 7I_x|_ %X} GDPLIZH0|HAEE 0459095054 044016748  0.071075847
. o |\O
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Ol &/= Ak A B C D E
N 4H|AETHESE FHEHEOEZZ GDPEEE  GDPLIZY0IHAEES
HE=TE A|EE 0| SELICH

SHIAE7IYSE 0.000121582
ie E2 EMD: FegufEge|
GDPEZEE
GDPCIZ0[HH &S

describe xlsx

L= AMEQ 2B

Sheets
SO (@)
Sheetl
Sheet2
IO
HEEE
(BLZ 0|5)

0.000112276
2.79867E-05
5.68489E-05

0.000155172
7.81333E-05
6.15756E-05

0.000286907
0.00001352

0.000126116

A

B
LHAEYSE

D
GDPETE

E
GDPLIEZ 0B s E

LHAFETINSE
Z=ectarEae)
GDPAEEE

GDPLIEROIHYSE

1
0.81741785
0.149846229
0459095054

0.370305341 1
044016748  0.071075847




b3-ch5-1-rev.R > (var<-var (df_new))

cpi  interest gdp deflator
cpi 1.3026667 1.2029524 0.2998571 0.6090952
interest 1.2029324 1.6625524 0.8371429 0.6597381
gdp 0.2998571 0.8371429 3.0740000 0.1448571
deflator 0.6090952 0.6597381 0.1448571 1.3512381

library(openxlIsx)

df<-read.xIsx("http://kanggc.iptime.org/book/data/describe—e.xlsx")

df_dat<-data.matrix(df) - corr
cpi  interest gdp deflator
<—df_datl 2] cpi .0000000 0.8174179 0.14984623 0.45909505
Cpi<-di_datl, ¥ interest 0.8174179 1.0000000 0.37030534 0.44016748
interest<—df_dat[.3] gdp .1498462 0.3703053 1.00000000 0.07107585
deflator 0.43%0951 0.4401675 0.071075385 1.00000000

gdp<-df_dat[,4]

deflator<-df_dat[,5]

= (var_new=-var (df_new_1))

[,1]1 [.2] [,3] [.4]

1,] 1.302667e-04 1.202952e-04 2.998571e-05 6.090952e-05

2,] 1.202952e-04 1.662552e-04 8.371429e-05 6.597381e-05

df new [2,] 2.998571e-05 8.37142%9e-05 3.074000e-04 1.448571e-05

- [4,] 6.090952e-05 6.597381e-05 1.448571e-05 1.351238e-04

= {corr<-cor (df_new_13)

[,1] [.2] [.3] [.4]
(var<-var(df_new)) [1,] 1.0000000 0.8174179 0.14984623 0.45909505
, ¥ [2,] 0.8174179 1.0000000 0.37030534 0.44016748
df_var<-data.matrix(var) [2,] 0.1498462 0.3702052 1.00000000 0.07107585
(sd<—sart(diag(df_var [4,] 0.4590951 0.4401675 0.07107585 1.00000000

. o [
df_new<-cbind(cpi, interest, gdp; deflator) / [

df_new_1<-cbind(cpi/100, int 0, gdp/100, deflator/100)
(var_new<-var(df_new_1))

(corr<—cor(df_new_1))
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(1) FEAS o|8st A4t

- (0f 1) X 2t YOj CHst Cj|o|E{7} Of2f =tFa} ZS Wl X|AXSHOR
- A25LE| A6M0f| X H|O|E|E =S

- A70| =sum(a2:a6)2 UHsI0] ¥ , X, & 7511, A80|| =average(a2:a6)

- SYE YU 2 70l X2, v, & T4, B8Ol XE T &

. C2RE| C6M0| X25 AAHSI11, D25E| D6’0]l XYS A4t

- C70]l sum(c2:c6)2 U= ¥, X?E F6t1, D70 =sum(d2:d6)= L=l Y7, x; v, E T+

Y XiVi-XY Vi =
= =
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(3) HIOlE| 245 0| 8¢t A
HO|E-EM-HO|E] EMS &AlstEH LIEILtE SA HIO|E 24 ChehdXIof|l A =]
DX 22} 22 SHEN SR LhER
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= 0816667
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e 00 % &

AgE  Has Mz EF O FH| 828t F
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4 24
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II. R Ct=2|HE=M

b3-ch5-2.R

x<-c(2,3,4,5,6)
y<-c(4,4,6,6,10)
X3y
(n<-length(x))

sumx<—sum(x)); (sumy<-—

mx=mean(x));(my=mean(

beta0<-my-betal*mx
betal;betal
(b1hat<-cov(x,y)/var(x))

(bOhat<-mean(y)—b1hat*xmean(x))

N<-len

(XPX<=t(X)%*%X)

(XPXINV<-solve(XPX))
(XPY<=t(X)%*%Y
(

)
beta<—XPXINV%x*%XPY)
ols<=Im(y~x)
summary(ols)

sum(y))/
y))

= (sumx<-sumix))
[1] 20

= (sumy<-sumiy))
[1] 30

v

= (mx=mean(x
[1] 4

= (my=mgan(y))
[1] &

= (XPX<-T () %H*%K)

Coefficients:

Estimate std.
0. 400

® 1.400
Ly ———

{(Intercept)

Ssignif. codes: ©

[1,] 3
[2,]

ot

= (sumxy<-sum{xy))
[1] 134

> {sumxsqg<-sum(xA2))
[1] =0

= (sumysg<-sumyA2))
[1] 204

> betald; betal
[1] 0.4
[1] 1.4

= (blhat<-cov(x,y)/var{x})

[1] 1.4

= (hdhat<-mean(y)-blhat*mean(x))

[1] 0.4

(.11 [,2]
20
20

[,1] [,2]
1.8 -0.4
-0.4 0.1

> (XPY<-T(X)%*%Y)

[1,]
[2,]

Error © value
1.625 0.246
0. 383 3.656
i-;c--;‘-!

0.001 0.01

[

[.1]
30
134

Pri=[t])

0.8214
0.0354 =

0.05 °.

0.1t

Residual standard error: 1.211 on 3 degrees of freedom

Multiple rR-squared:
F-statistic: 13.36 on 1 and 3 DF,

0. 8167,

Adjusted R-squared:
p-value: 0.03535

0.7556

= (XNPXINV<-s0lve(XPx))

1




b3-ch5-4.R

library(openxIsx)

df<-read.xIsx("http://kanggc.iptime.org/book/data/consum

ption—e.xIsx")

year<—df[,1]
gdp<-df[,2]
consumption<—df[,3]

y<-ts(gdp, start=c(2000), frequency=1)

c<—ts(consumption, start=c(2000), frequency=1)

n<—length(y)

ny<-y[2:n]
nc<—cl2:n]

lagc<-c[1:n—-1]

Im_s<-Im(c~y)

ols_s

y0<-1700000
(chat_s<-summary(l
*y0)

che mof A%

+summary(im_s)$coef[2]

Coefficients:

Estimate std. Error
{(Intercept) 3.035e+04 9.610e+03
¥ £.291le-01 B8.25%9e-03

Signif. codes: 0 "=’

6

0.001

t value Pri=|t|)
3.179  0.00623 #*
76,173 = 2e-1g #n*

=’

0.01 **' 0.05 *." 0.1 °

Residual standard error: 10600 on 15 degrees of freedom

Multiple R-squared:
F-statistic:

0.9974,

= y0<-1700000

5802 on 1 and 15 DF,

Adjusted R-squared: 0.9972
p-value: =< 2.2e-16

= (chat_s<-summary(Im_s)}Scoef [1]+summary(Im_s)Scoef [2]*y0}
[1] 1099983

1
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(o) &H| (Tt - 10 )t A5 (EH : 102 H)2| Xt & (consumption.xlsx) 2 SXjAH|(c,)= ©X
(v} MEE AH|(c,_ )2 ete ChE3HEE S F-E6D, 20179 £50| 17002t g If
2017 & 2H| S o|Sal Het
Co = PBo + B1Ye + B2Ciq + &
- http://kanggc.iptime.org/book/data/consumption.xlsx2 LU S CI2 2 E
- 212 ChE2|HEY 2 SR 2H|(c)] AMXHHEQ AR AH|(C,_,)7t SEHF0| =8k of
H|O|E{S TtE0{o} g
- 2R E E18MMX]| W25 (Y,)S SASIL, MAE 2H|(C, )& THS7] {6 F3/20] &4 o
6t1, O|E F18&7X| SA}

-9 22 SEHR YOI R 3| E 40| M 20015 E 2016'A77X| H[O|E{ 7} O| L2 2 H|O|E]-2 AL
Ol 2MS HA5I0 S HIO|E|EM CHSIYXIoM 3N EMS MESHH LIEILLE 3724 CHSH%}
OlM Y= UER0f $C$3:9C$185 M=o, X5 &L= HPI0l| $E$3:$F$18S MHSt] QS F=5}

W Ct2 J8 0t 22 Ad|gs =8 A7t LIEHE
- 2017'd AH|E 0| =517 21510 B2240j|

Al =B17+B18*1700000+B19*10474825
UHSIH 2017 AH| 6|F X7t 1092084 Y

A B C D E F G H
Qo &3

SRES SAE
2k 0.999157

= 0998315

< 0.998056
8390.698

16

[a T o' T B s T B o N L

o

AfE  HEE HE "z FH RoEF
2 542E+11 271E+11 3851.938 9.38E-19
13 9.15E+08 70403808
15 543E+11

A= =F 2% t AT P-it 59 95% 42| 95% 52| 95.0%4 2 95.0%
17 |y 2H 4029523 8523.49 4727551 0.000395 21881.35 58709.11 2188135 58709.11
18 X1 033455 0.105585 3.168532 0.007403 0.106447 0.562653 0.106447 0.562653
19 X 2 0461157 0.167887 274683 0.016638 0.098459 0.823855 0.098459 0.823855
20
21 20174 4|
22 1092084




Yy  TO.RCOIS3HEM

b3-ch5-4.R

= (data<-cbind{ny,nc,lagc))

ny ne lagc
df<-read.xIsx("http://kanggc.iptime.org/book/data/consum [1,] 683447.1 460668.3 413461.
) ) [2,] 758862 3136l6. 460668,
ption—e.xIsx") [3,] 807778.0 535967.4 515616.
year<—df[.1] [4,] 874238.7 562020.3 535967.
[5,]1 912608. 602345, 562020.
gdp<—df[,2] [6,]1 962446. e43408. 002345,
[7,] 1040091. 691740. 043408,

[ 0

0 4

7 3

[ 4

[ 0

, 8 4
consumption<-df[,3] [8,] 1104414.3 7408B04.6 691740.
y<-ts(gdp, start=c(2000), frequency=1) / [9,] 1148981.8 769588.6 740804.

8 2

a 6

5 2

4 2

g 9

1 6

5 4

library(openxlIsx)

) [10,] 1266579. 819821. 769588,
c<-ts(consumption, start=c(2000), frequency=1) [11,] 1340529. 873522, 519871,
n<—length(y) [12,] 1391595. 911938 873522.

[13,] 1439644. 942267. 011938.
(ny<-y[2:n]) [14,] 1490763. 972924, 942267,
1006005. 972924.
1047482.4 1006005.

[15,] 135683B3.

nc<-c[2:n]) [16,] 1639066.

(
(lagc<—c[1:n-1])
(data<-cbind(ny,nc,lagc))

Ch o R R R B O Wk oW

Coefficients:
Im_s<-Im(c~y) Estimate std. Error t wvalue Pri=|t|)

_ (Intercept) 4.030e+04 8.523e+03 4.728 0.000395 #%x
ols_s<-summary(Im_s) ny 3.346e-01 1.056e-01  3.169 0.007403 **
ols_s Tage 4.612e-01 1.679e-01 2.747 0.016638 *

y0<=1700000 signif. codes: 0 ‘%%’ 0,001 ‘¥**' 0.01 ‘*' 0.05 ‘.' 0.1 * ' 1

(chat_s<-summary(Im_s)$coef[1]+summary .
Residual standard error: 8391 on 13 degrees of freedom

*y0) Multiple R-squared: 0.9983, Adjusted R-squared: 0.99%81
Im_m<-Im(nc~ny-+lagc) F-statistic: 3832 on 2 and 13 DF, p-value: < 2.2e-16
ols_m<-sum
ols_m

(chat_m<-summary(Im_m)$coef[1]+summary(im_m)$coef[

2]xy0+summary(Im_m)$coef[3]*c[17]) |
v

> (chat_m=-summary{Im_m) 2coef [1]+summary {Im_m) $coef [2] *yO+summary (Im_m) $coef [3]*c[17])
[1] 1092084




